ASSIGNMENT FOR CLASS 4
ENGLISH LITERATURE

Q.1Read the chapter 'Black Beauty' twice.Answer the follewing
questions

a. Who was Black Beauty? Where did he live?
b. What did Darkie do on the farm?

c. What lessons did Darkie's mother teach\him?

Q2. Reference to context

a. "Be good while I go to workifor,Farmer Grey."

b. "You must do your workwell and never bite or kick."

Q3. Write meaning of\thie-fellowing words and make sentences-
a. gallop

b. farm

c. gentle

d. twigs

Q.4 Spellings: Learn spellings on pg 137 from Briar Rose




Q.1Write a letter to your cousin telling
him about your good result in the annual
examination.

Change the direct speech into indirect speech

“1 like my bike,” he said.

She said, “| come from New Zealand’”

“Jenna meets her fniend every afternoon,” she said.

He said, “Tom hates anchovies on a pizza’

He said, “I'm going to work in the fruit shop.”

“Hove my job working in the dress shop,” she said.

“Do you have any children Termri?” she asked.

“Do you want to live in Paris, Brendon?” Marcie asked.

“I live three blocks away from here,” she said.

“What's your name?” she said.




Coordinating conjunctions

(rade 4 Conprciions Workshee! 2

Two sentonces can be

combined 3
Combine two sentences by using a comma mw:’m
and a conjunclion. conpunction such as and,

but, or, 80, and yel

\. J

1. Tho gama was viry 0asy, No 0né won

2 Westuded o lot for the fest. W stll taed,

3 My mom works al a school Sho lakes me wilh her in the mormings.

4. Thav thred beothars, Only one of them ives af my house.

S Woowo to pick frash strambaeres. Wo put them into dolcious pies.

B My laeniy 5 Qoing 10 e beach. Wo can 400 the oonan

T Andy can bo & dockor. Andy can be & liwyer,

B Basebwhis & greal sport | am ot good at &

0. Tomis sk He naeds 1o 0o 1o he docor

10, My dad works in an office bulding. He has 10 lake an elevator 1 the
Towrtienth floge,




Change the gender of the underlined noun and make
necessary changes.

a) My brother is feeding the cow.

b) There are many stallions on the farm.

c) The hero of the film jumped over a fence.

d) The actor won an award for the film.

e) Mr. Mehta’'s aunt is the host for the party.

f) The hunter lost his way in the jungle.




|
Write the noun that completes each sentence correctly.

1. My father drives a (truck, trucks)

2. His truck has sixteen (wheels, wheel)

3. Dad drives the truck to a (dock, docks)

4. Several (ship, ships)
came into the dock today.

5. Dad loaded many (barrels, barrel)

into his truck.

Use the plural from of each noun in () to complete each

sentence.
1. Lara reads some (story)
2. Each story was about animal
(family)
3. She learned about animal
(baby)
4. Baby dogs are called (Puppy)
5. Baby rabbits are called (bunny)

Use the plural form of the noun in () to complete each

sentence.
1. The went to the farm. (child)
2. Some worked in the field. (man)
3. | fed some (goose)
4. Field ran across the road.
(mouse)

5. The farmer checked the horse's
(tooth)




Rewrite each sentence changing the
gender of nouns and pronouns:

1. His son is an actor.

2. She had sold her house.

3. The prince is a young lad.

4. The king loved the prince.

5. The queen hated the witch.

6. The hero rode on his horse.

7. He has gone to see the duke.

8. He met his uncle and nephew.

9. Give the dog a biscuit, he is hungry.

10. The washerman went to the

emperor. yans N



Circle the nouns in the sentences below.

1.
2
3.
4.
5
6.
&
8.
S.

S

The girl washed her hands with water.

Sara was thinking about her little sister Sue.

Jennifer threw her pencil and tore the drawing paper.
Andy eats pasta for lunch.

Mandy washed the bathroom floor.

Zoe was outside playing hit the ball.

The window on the attic is broken.

Nick heard a big bang outside main door.

Can | play with the puppy?

The flock of geese honked as it flew through the air.




Underline the common nouns and circle the Proper Nouns.

© 0 NOUHWN o

—
©

The house is on Kings Street.

Doyle played with her brother.

Frank went to Sainsbury Store last Saturday.
He rides bicycle very carefully.

Lahore Boulevard is a busy street.

Derrick and his friends chased the robbers.
Did you see Kelvin at the party?

Laura looked at the sea for hours.

There were no bottles in the fridge.

Fish Burger at Burger King is yummy.




Rewrite the following sentences with the opposite gender of the underlined word.

1. They have brought a new lion to the zoo.

2. The crowd rushed to greet the actor.

3. I received a letter from my uncle yesterday.
4. The man sat watching TV.

5. My nephew sings very well.

6. Sir, what would you like to have?

7. The audience welcomed the hero with great enthusiasm.
8. You are a generous host.

9. You don't see many milkmen today.

10. The horse cleared the hurdie easily.

11. He is the heir to the throne.

12. He is a generous host.

13. She remained a spinster.




Circle the nouns and underline the adjectives.

1.

2,

3.

4.

5.

6.

7.

8.

S,

10.

My waiter brought a bottle of cold water.

The blind dog was found near the wooden bridge.

Large tigers and powerful cats are found in Asia.

I saw a fox with a long bushy tail.

The weather was windy but pleasant.

The blind dog was found near the wooden bridge.

Tigers are large, powerful, striped cats found in Asia.

Our football team wore blue shirts.

“Do not walk on the wet floorl” shouted the grumpy caretaker.

Mark played with his plastic train.
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Add rogether 5, 15 and 25 and divide the sum by 9.

Multiply three thousand two hundred by twenty.
Divide the successor of 6499 by 13.

Add ten sixes to six tens.

Multiply eighty thousand by nine hundred. Write and read it in both Indian and Inter-
national system,

The remainder in 367 + 6 is

The quotient in 60 + 7 is

If 2800 kg of poratoes are put into sacks and each sack holds 70 kg, how many sacks
are required?

What number when multiplied by the successor of 69 gives 21000?

What is the sum of one lakh, ninety nine thousand, nine hundred two and eight?

Express in words.
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EB Write the following amounts of money in figures.
= P
| B 75 rupees

a 12 rupees 'h___j:__]_z__, ~
¢ 45 rupees and 80 paise ;:____________\_J[ d 63 rupees and 19 paise =
e 10 rupees and 9 paise } | & 100 rupees and 75 pajse ;
g 75 paise E, j h 56 paise =
i 2 paisc ! A______I j 60 rupees 8 paise -
k 90 paise i - ‘—T | 500 rupees and 85 paise
F2 Write the following amounts of money in words.

a I 28.65 u_-];:t;\-_:.::hi rupeces and sixty five pniw-—ﬁ
b T 40.08 - a
¢ T 125.00 -

d T 0.5 mdk_'_ 8
e T 12.50 T I
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Add.
EB < 400, T 295, ¥ 1356, X 14

3 7583 p, 5305 p and 356 p. Write the answer in rupees.

z R B ®
473 62 75 88 638 23
35 78 +159 65

[...14 24] [4. J L 7

B M B 8]
403 14 2935 40 2157 335

29 335 78 8§35 3§ 33
+165 793 +1396 55 +907 635
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Rakesh buys an eraser for 75 paise and :
B ch does he spend in all ? a toffee for 80 paise. How - &
!

Anjali I?ought a pair of socks for ¥ 30.25 from the uniform sho aS
= a pencil for ¥ 3.55, a book for ¥ 45.35 and a notebook f(l_')):‘
7 15.25 from the bookshop. How much did she spend altogether ? lt

il Sanjana bought birthday presents for two of her friends. One costs
7 60.45 and the other ¥ 73.75. How much did she spend on the presents?

A family’s shopping comes to ¥ 345.55 in the first week and  689.65 in the followir
week. How much was spent over the two weeks ?

=
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FHEH-TET (Story Writing)
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Answer the following :

Q1 What is a constellation? Name-any
two constellations.

Q2 What Is photosynthesis?

Q3 Why does the earth appear blue
from the space?

Q4 Write any three differences
between :

a) plants and)animals
b) herbjvores and carnivores
c) stars and planets

END OF ASSIGNMENT
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